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(mm) yid a 13 (kg/cni)
0.5 9.0 9.0 9.00 76.11
1.0 16.0 | 200 | 18.00 152.22
1.5 220 26.0 | 24.00 202.96
20 27.0 31.0 | 29.00 245.25
2.5 31.0 35.0 | 33.00 279.08
3.0 35.0 37.0 | 36.00 304.45
5.0 47.0 490 | 48.00 405.93
1.5 57.0 59.0 | 58.00 490.50
10.0 66.0 69.0 | 67.50 570.84
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19.0 545.4 545.4 0.0 0.00 100.00
13.2 777.2 574.4 202.8 9.60 90.40
9.5 690.6 543.8 146.8 6.95 83.45
6.7 630.8 479.5 151.3 7.16 76.28
4.75 713.3 529.4 183.9 8.71 67.58
2.36 1030.8 491.2 539.6 25.55 42.03
1.180 1043.3 465.4 577.9 27.36 14.67
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